Subtraction
We are learning to subtract 2 digit numbers.
Example:
54 – 28 =
To complete this sum I am going to use the partitioning strategy.
Step 1 – Split the second number into tens and units. 
28 = 20 + 8
Step 2 – Take the tens away from the first number.
54 – 20 = 34
Step 3 – Take the units away from your answer
34 – 8 = 26
Answer = 26
Copy and complete the subtraction sums below.
[bookmark: _GoBack]Look at the strategy posters on the blog and choose the strategy you would like to use.
You may want to use a 100 square to support you.
	1. 45 – 16 =
	6. 31 – 26 =

	2. 68 – 39 =
	7. 62 – 44=

	3. 96 – 69 =
	8. 71 – 63 =

	4. 51 – 25 =
	9. 87 – 38=

	5. 23 – 17 =
	10. 93 – 45=



